HX—TIKk2 (A48

SHM4E3AS

RECAETXRA/KE MERKEHARBERREE

PRKEEfE  8:30

KEHBER (BXIFEKE 2KHF (EK )
H XiE | KRB | KB |BH E| opH [FILAY| BE | &% (&S| & vy |E #E
E REW | A4F N
°C °C = mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 i 2.5 8.8 3.6 | 17.73
2 i 8.0 | 10.1 45| 7.78 | 59.0| 76.5 158 11.2 | 0.50 0.03
3 i 5.0 | 10.5 40| 1.72
4 = 7.0 11.0 43| 17.80
5 i 3.5 10. 1 4.4 1.76
6 i 8.0 10.8 5.3 | 7.81
7 i 4.5 9.4 55| 1.76
8 i 4.5 8.9 46| 7.78
9 i 6.0 10.4 43| 1.75
10 i 2.5 10. 1 49| 1.75
11 i 50| 11.0 6.2 | 7.80
12 i 5.5 11.0 8.1 7.80
13 i 8.5 12.6 45| 7.8
14 [55] 14.0 | 13.1 49| 7.84
15 = 16.0 [ 14.1 8.8| 7.77| 56.0| 74.8 165 9.6 | 0.95 0.04
16 i 8.0 | 12.8 7.6 | 1.78
17 i 9.0 | 12.7 5.2 1.77
18 = 11.0 | 11.9 1.7 1.66
19 i 8.5 11.0 6.1 1.73
20 = 9.0 | 11.1 35.6 | 7.72
21 i 9.5 11.5 13.7 | 7.74
22 [55] 9.0 | 11.4 57| 1.79
23 i 2.5 9.5 9.8 | 1.72
24 i 4.0 9.4 6.5 7.81
25 i 5.5 12.2 1.3 1.79
26 = 10.5 12.7 5.9 | 7.80
217 = 16.0 | 12.8 14.6 | 7.81
28 = 12.5 12.7 34.5| 1.73
29 = 11.5 12.7 18.6 | 7.82
30 [55] 12.0 | 12.0 20.6 | 7.81
31 i 11.5 13.9 241 7.85
Ty 8.1 11.4 9.7 | 7.77| 51.5| 15.7 162 10.4 | 0.72 0.03
= 16.0 | 14.1 35.6 | 7.85| 59.0| 76.5 165 11.2 | 0.95 0.04
=IE 2.5 8.8 3.6 | 7.66| 56.0| 74.8 158 9.6 | 0.50 0.03




HX—TIKk2 (A48

SHM4E3AS

RECAETXRA/KE MERKEHARBERREE

PRKEEfE  8:30

KEHBER (BXIRKE Kt (GFK )
H XiE | KRB | KB |BH E| opH [FILAY| BE | &% (&S| & vy |E #E
E REW | A4F N
°C °C = mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 i 2.5 8.4 1.3 | 7.56

2 i 8.0 9.8 1.0 7.55| 52.3| 70.3 138 10.3 | 0.06 0. 02
3 i 5.0 9.8 1.3 | 7.58

4 = 7.0 10.5 1.4 | 7.58

5 i 3.5 9.4 1.2 | 17.57

6 i 8.0 10.2 1.5 7.59

7 i 4.5 8.9 1.4 7.61

8 i 4.5 8.9 1.3 7.55

9 i 6.0 9.4 1.3 | 7.53

10 i 2.5 9.8 1.3 | 7.51

11 i 50| 10.6 1.3 | 7.56

12 i 5.5 10.3 1.6 | 7.56

13 i 8.5 11.9 1.9 | 7.57

14 [55] 14.0 | 12.9 1.5 7.60

15 = 16.0 | 14.3 1.7 7.63| 53.5| 73.6 143 10.7 | 0.07 <0.02
16 i 8.0 13.3 1.8 | 7.56

17 i 9.0 | 12.4 1.2 | 7.53

18 = 11.0 | 12.7 0.9 | 7.51

19 i 8.5 11.9 0.9 | 7.51

20 = 9.0 10.9 2.3 1.34

21 i 9.5 11.1 1.1 7.56

22 [55] 9.0 | 11.5 0.7 7.54

23 i 2.5 10.2 0.7 | 7.54

24 i 4.0 9.4 0.9 | 7.51

25 i 5.5 10.7 0.7 | 7.53

26 = 10.5 11.9 0.6 | 7.52

217 = 16.0 | 13.5 0.7 | 7.53

28 = 12.5 12.8 1.4 7.37

29 = 11.5 13.2 0.9 | 7.43

30 [55] 12.0 | 12.5 0.7 | 7.48

31 i 11.5 12.9 0.5 | 7.53

Ty 8.1 11.2 1.2 | 7.53| 52.9| 72.0 141 10.5 | 0.06 <0.02
= 16.0 | 14.3 23| 7.63| 53.5| 73.6 143 10.7 | 0.07 <0.02
=IE 2.5 8.4 0.5| 7.34| 52.3| 70.3 138 10.3 | 0.06 <0.02




